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WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICIAN-B FITTER (ADVT. NO. 324)

Faifs 3iF/Maximum Marks -

9< . 1488/ Post No. 1488

fafd/Date: 20.08.2023
80 FHEA/Mime. 90 fA=7e/ 90 minutes

393t &1 AmA/Name of the candidate Wﬁ»‘ F/Roll no.

e

3t o forw arereer /Instructions to the Candidates

1. 319 ZaRT 99 JTdesT # GEdd [T 1T 3-8 3T & HUR W 39 faf@d gdem & fav
AT forar arar 1 afe amaa d9 A et gaar Ay wora afafe £ § a1 e & sear nifda

Qagar A W@ § At Araht s fiar sediea wX & ST

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

90 minutes.

The

Each question carries

727-94, 80 wa’mgﬁma-méwﬁ% 3R odier &1 3@f™ 90 BAae &
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is

m%ﬁa@amﬁ%w%magﬁ%ﬁﬁ@%wmmgwml

questions will be objective type with four options out of which only one will be unambiguously correct.

mmaa:favmﬁaﬁmmmm%ﬁvomﬁmml

01 mark and 0.33 marks will be deducted for each wrong answer.

FIAT gAT I3 <W/P.T 0.
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) o2 \\0 . :
T & 0
“aﬂlni\?lm Q \7
AT 3 - et/ Technician B (Fitter) &/ X\ S
A '%"LV/AQ\/

2.5%/“%%3@%@@(1%@@57@ ]_Omtﬁggmaﬁwﬂﬁmiﬂéaﬁm
mmwﬁaﬂq#lwaﬁaﬁnﬁx.Lioowﬁﬁ?m%? 2

: " " 1 0ss section with a v
Calculate the approximate cost of an aluminium rod of diameter 10 mm cross qcctf e n:’)/o
length of 4 meters made of metal with density 2.5 grams/cubic centimetre. Cost of mete "170
b
q

_ e TR (4’ @
A 785 ®) 1500 s ¥ i
() 265 @ 314 ( Lo
BOM 31 amtft =t wem st @

BOM or Bill of materials gives
}a& feret A=A § 3UAY U W @ ¥ 91a #1 AR / Size of raw materials being used in an

assembly

(b) Toret wq== % frmfor d wgfe 9wl i g=h / List of parts involved in manufacturing of an

assembly
(c) FY=gq ¥ I 1gaa! il & / Cost of parts that goes into an assembly

(d) 39w @t / All of the above

foret weref it 7= Witk frAfaiad o & foe 318 B 53w 1 Tt 2 7

Tensile strengfh of a material is expressed in which of the following unit

& N/m? b Nm
© mN (@ N/m?

TF UM & GRH Fa SR FI TG0 T8 F1 gl 91T 2
Penetration depth of cutting tool during one rotation is termed as
(a) @I # 7T / machine speed (b) W / rpm
(c) dd diFdl / cutting speed )d%/ T / feed

25oﬁﬁﬁwwwmﬁ30°%mﬁm%mﬁqﬁmﬁm; o "

-

Determine the height of a slip gauge block to measure an 1LRA
ang] . ; s
250 mm long. gle of 30° using sine bar of

~ 1
@ 2503131 ® 125 3 S 0{
250/4/3 mm - \Y
© M 125 mm LY - \/'
§ 2 20
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70 LR H AN \

TIG welding empiay® (h) »:ls'}l i+ / Hydrogen

Aa) ST 1 oy ufufect / Acelylenc

(@) otllse Z Oxypoen

o . e B
Prafrfag N A A argea Aes Qi A atarl affa R S wERd | .
wod under an invisible weld defect?

N

Which among tho following can be eategory
. fwarra / Spatter
(a) oraifva = / Stray are (b)  fomE /8)

LY 5] - N
() 3t / Undercut )y wigdl / Porosity

@ forferfea o & free swim frga fresh wefifin % fo woaie w9 § frn st @ 7

Which of the following can be used as electrodes for Illectro dl.scharrg‘q:rina.chmmg.
L= o

(a) &= 3 i / Steel and copper

(b) & 3R ABTE / Steel and graphite

(c) Wﬁm 3R ITEA FW1ES / Aluminum and tungsten carbide
(d) e 3R arE / Brass and copper

97 MI6 x 1.5 1 Sice TuR A & fore, fiie 3w =1 afsmes =1
Calculate the blank size for preparing a bolt of M16 x 1.5?

(a) 16.85 46)  15.85
() 15.75 (d  16.05

Pt # & e w3 s R % v & e s 37

Which of the following is used for sealing purpose in a pressure cooker?

(a) @THE / Locknut (b) e / Gasket

(c) UM 94 / Lock screw (d)  F& A / Safety valve

xS
11w % woE frg ool & & v R

One of the major alloying elements of bronze is

(a) &/ Iron (b)  ergfem / Titanium
A4 7/ Tin ) T/ Sulphur

B

1488



ST ST W b e e il s Gl ) @l iy Y
The factors that must hoe presont in combination for n e to continme to hovn nee?
() W/ Pael (h) TN 7 Oxyvpen

(©) I/ Heat by @ ol 2 AN of the nhove

5 8 40 el s el de A a & wrlddy ) ada ad um 100 Bl Gd G st
Vsl R e s R s ?
A 100 mm long (nominal s1z¢) 'V Block capablo of clamping workpioeos hotwoon O (o 40 mm in

diameter and of Grade A will be designatod na?

Q) V'S 100/6-40 A - 1.8.2949 /'V' Block 100/5-40 A - 1.S.2049;
(b)  "V'&HI® 0-100/6-40 A - 1.8.2949 7 'V' Block 0-100/5-40 AL 1.8.2949).
(€)  'V'SHATH 100/40 A - 1.8.2949 /'V' Block 100/40 A - 1.8:2049.

(d) 'V'SATER 50-100/6-40 A - 1.5.2949 / 'V Block 60-100/6:40 A - 1.S.2919),

T & wleror 3 fore wreifes wheo wefis s s B ¥
Universal Testing Machine is used for tosting

(a) AT / Hardness (b)

U8 BT / Surface roughnoss »
(¢) a=xar @mel / Tensile strength (d)  dHE / Tomporaturo N
l\") ,\""0
qv
foramd art afed <t weenm A quifu o awor SRR 54 w5 areent ww ) R6 o i aver e R
Grain size of 54 indicated in theudentification of a grinding wheol implios that the grain 8120
187

(a) ¥gel / Coarse (b) "M/ Modium
(¢)  H&F / ine () e WA/ Vory fine

TG ST T IGUNT
Use of Sine bar
() fgfem & dum wrhde %1 amae™ /o lovel work durving drilling
/(l/)') 2 SiTa & mvr @ 1A F e/ To moasure the angle of o tapor job
(¢) Frl @ @t e med & e /o moasure diamoter of o hole

(d) wrgatl @h A GIRIICE R va“, /"o moasuro hardness of moetals
&

4]

18R
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A0,

20,

w27 vkt w1 gy frr fao G S 27
Stud Extractor is used for;

(n) 5t 7 Drilling

/(l)) 7 i f ) ) wer / Removing broken part
(¢) sufarmi w2 / Removing keys

(d)y 92 721 / Thread removal

va foifl 0 frad s ks B 87

How many arc seconds constitute one degree?

Jn) 60 () 3600
() 120 @ 360

S W T 16 3 i e T A, @ refraa 3 A PR A #1 s fopa ST 27
When the load is acting parallel to bearing axis, which of the following bearing is used?

) Yo, 9 / Thrust bearing (b) el faafar / Plain bearing
(c) fawf (s =rafan) / Journal bearing (d) =z ¥ =13 i 72 / None of the above

ek T @l 1 R 2 (I 12 1 12.9) F1 3R Fa1 27
The first figure of a fastener property class (eg. 12 of 12.9) indicates?

(a) o wmrft 6t Afafga 9= 7ife 117100/ 1/100 of the nominal tensile strength of the
fastener material

(b) amft i sifufea wove it @ safafga o=@ qeea & i %1 31999 / Ratio between nominal
Yield strength and nominal tensile strength of the material

(c) Tz TF Frz & FEeE 3w @us & IwEm % 3 % fau R mar 2 / 1t is a code used to

indicate the usage of fastener

(d) #g® "l A wfafea 7owa wfd 1 3@ FT 2 / Indicates the nominal yield strength of the
fastener material

frefefiaa § @ #9391 gga =rer @ foad =mes ot o arfoa et fadia feansti & gof & 27
Which of the following belt drive in which the driver pulley and driven pulleys are rotated 1n
opposite directions?

4) =t ugt 9@ / Cross belt drive

kb) dien gzt = / Open belt drive

(c) ¥g 3R g 3@ firft / Fast and loose cone pulley
(d) 278 4@ 13 ot 781 / None of the above

6 1488
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L essselly — em—

A5 4 fg o fom & fram o dT % wE A T

Identify the type of clamp shown in the figure below?

Z

-
/d/) afd / Bent (b) &3 W& / Goose neck
(c) #tun/ Straight (d) 3t / Finger

/24. frefefiad § @ frger 3Uam Jeed aiETad | 8 fohan S ?

Which among the following is not used in welding operation?

(a) feme / Tongs ,é{) 8./ Blade
(¢) dr gA / Wire brush (d) fisers gefter / Chipping hammer

/2( ST § 92 T AW $25.5 + 0.2 F w0 4 FfEE R S @ Si qggA A A 6 25.5+0.1

%mﬁﬁﬁfe%mmimﬁaﬁ%aﬁammmmé?

In an assembly, the hole dimension is specified as ¢25.5 = 0.2 and corresponding shaft
dimension is specified as ¢ 25.5+0.1, what is the maximum clearance possible between the two

in assembly?

R P
(a) 0.2 Fefi /0.2 mm () 0.1 /0.1 mm L AN
0.3 firft / 0.3 @ 0.15fm /0.15 “Zx /Y
)ﬂ)/ mm 5 mm /O/

@ﬁﬁﬁh@ﬁ@gﬁ%%ﬁmﬁwﬁmﬁﬁnaaﬁ%?
Which plating is generally given for surface protection of Hexagonal Socket Head Cap screw?

};7 =iet / Silver (b) e / Cadmium
(c) Q??Eﬂﬁ?m /-Aluminum d IW & gt / All of the above

vz fafim el 1 g f e e 27

Ratchet drilling machine is used 1n;

(a) 3= GGGl fefem / High precision drilling

(b) @ &3 STl gaTet fefem £ syravaehdl & / Areas where sensitive drilling is required

);Z{ fazga fad &= / Areas without electricity
(d) 3‘1fl’fﬁ & =15 78l / None of the above

G 1488
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30.

A T o ol et s o wae Ny

The type of sheet motal senm ahown helow 117

B e " = Plai ) 1 302
() foewsel ¥ | / Pittshurgh seam (b)  #w #d % @3 / Plain dovetail seam

(©) Wl &9d 48 Waq / Flange dovetail seam (d) =¥ Fd 4 Hi@4 [ Beaded dovetail seam

frfofaa § @ 93 @ fea ¥ siferes mf 93 &1 w0 78 27

Which among the following is not a reason for overheating of drills?
(a) 99T X Sgd 3 2 / Feed rate is too high

(b)  3TFFHTI FIVT T 2 / Clearance angle is incorrect

(c) ﬁl’g I TeAd 2 / Point angle is incorrect

(d) fea1 bt A 2 / Drill is sharp enoﬁgh

Hrc,'z%mmwﬁé%%ﬁaﬁ@igﬁ%mwmm%ﬁw%’r@aﬁﬁﬁqmméq
fo=ama +1 g%a s 27 :

The sheet metal lap seam is made by lapping the edge of one piece over the other piece. Which
amongst the following represents a sunk lap configuration?

@ 7 J /7

(©

IS 1219%m,mmﬁmﬁamﬁ@aﬁ§mmm%?

As per IS 1219, what type of pneumatic component is represented with a circle?

(a) ddEH / Compressor (b) Ik / Dryer
(c) SR / Reservoir (d)  Fd / Piping
8 1488



T T e e g, 3 foz A 30 3 % fou seanret fr ST aren Tee 29 27

In a tapping operation, the first tap to be used for tapping a blind hole is?

(a)  Teagdf 3 / Intermediate tap (b) sfgar 29 / Fine tap
() 2wy Taper tap (d) @1 29 / Bottoming tap

%f%ﬁﬁmﬁﬁﬁmmﬁﬁmwm@mmﬁmmwwmﬁmm?

Which type of washer is used for locking the nuts by bending and forming a “U shape”?

39 I / Tab washer (b)  Ere1 A9 / Plain washer
(¢) <pmT Eiitl Sprjng washer (d) YRR 19X / Conical washer
ﬁa@ﬁﬁﬁéﬁwﬁaw%%@mﬁmw%sﬁﬁa@m@miﬁwm
Srar &7

Rivets which are designed to allow them to be installed in joints which are accessible from one
side only are called?

(a) ©fF TR ﬁé@ / Semi tubular rivets 5
(b) U9 faey / Pop rivets oS {v-/

(c) formaifa f@ed / Insulated rivets
(@) ez ﬁézgq / Bifurcated rivets

/3( Eﬁaﬁw%mmrﬂmwﬁmgm%

Hardness is the property of a material to with stand
(a) TorgaT 3 WU=AT / Wear and scratching (b) g / Indentation
(c) 39uYY / Abrasion /(d/ SR & Tft / All of the above

?/ﬁmhm@aﬁ@@m@%ﬁmw%,wm%?

The temperature at which the structure of steel completely changes to AUSTENITE is called?
y “3uft srifdess e / Upper critical temperature

(b) fa=1 shifaes a9e™ / Lower critical temperature

(c) TN ﬁg dge™ / Flash point temperature

(d) =t ﬁl’g qraHaE /. Fire point temperature

rofia 3 Sh FreiRifaa 3 & free e PPE ¥ & # fra s 27

Which of the following is used as PPE during machining?

/ mifted / Goggles (b) mH fea1 U/ Drill hot
N =72 / Ratchet (d) gefter / Hammer
(©

) 9 1488



37, Frafafa 4 2 3R 60000 & 70000 % i fvzer 27

P
Which of the following melts hetween 600°C 1o 70007
(a) A1/ Bronze /m) w;w{rﬂﬁmﬂ / Aluminium
(c) Raem T / Stainless steel () ffast / Brasa

38 38 71 29 % 9 jarew P afife areht 2 A dy e s aret 3z A foor =R arer @ 7
Name the machine tap that has spiral flutes which will bring out the chips from the hole being

tapped?

() 'S aefien 3 Helieal fluted tap

(b)  Frcfi-fze afis FHI 39 / Flute-less spiral pointed tap

(©) T3/ Gun tap

(d) =3 &9 39 / Thread forming tap

/97 o7 & L e & w3 @ 9 a1 e ) T 27
Which of the following statements is not true in the case of a Tinman’s “L” square?
(2) & FIW et 1 T L SR 7 gt @ R Bl G s % B # /Tt s an ‘L7 shaped
piece of hardened steel with graduation marks on the edges
(b) Wmmﬂﬁmfw%mﬁmﬁmﬁ%ﬁmﬁﬁmm%/ltis used for

marking in the parallel direction to any base line

);z)' msmfmm@%m@mﬁaﬁﬁ%%ﬁ%mm%/Itisusedtocheckthe

perpendicularity with a baseline
(d) “L” =ar i Sy 3t I o ot &1 $01 90°2 / The angle between the tongue and the

body of the “L” square is 90°.
y o o % o 3ire & For #1 Ygan sii st ) v B awwEa 6 w9 ¥ R R S99

foFan Sran 27
Which tool is used for checking the correctness of Q_lg lip angle and equality of the lip length
for a drill?

(a) T8 yaTdt / Lip gauge
/(g) fea &1 yardt / Drill angle gauge
(c) ofars vt / Length gauge
(d) Tga argewnfter y@Tdt / Drill micrometer gauge

?1,/ ﬁﬁd??q\aéﬁﬁﬁ%mﬁﬁnuﬁﬁ@@aﬁwwﬁ#m%%ﬂmwmwﬁnﬁmm%
afer 39 %1 39 fat o Fefl 1 oo A e & A Al woem w0 ¥ fre R o oy |

What term is used for the process of raising a strip of metal around the end of a tube
tube can be used to hold a hose on the end or to strengthen the end of the tube?

so that

(a) T / Crimping (b) w99/ Braising
M e AT / Beading (d) e/ Burring
10 1488
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A2 TrafeRaa 0 A R /By g a i g an )7

/
Which of the following metal/alloy s having loweat melting point?
(") W / Steel i/ Copper
(©) TMLI / Tungsten (c) [l /- Nichrome
A3 R ol G s A eomsie A 3 fau R St B

Quick return mechanism is used in a shaper machine for;
(@) i 7fd / Rotary motion

(b)  warEd! 1fd / Reciprocating motion

(©) v} f & fore qoff / Rotary to reciprocating motion

/

//({) ¥ @ FI¢ 78 / None of these

19 fou o fom A e e E % R gEeT

Identify the type of clamp shown in figure below?

i

el #q / Wedge clamp

(a) =@t @9 / Latch clamp (b)
%ﬁﬁ F9 / Screw elamp (d)  @W g9 / Cam clamp

%ﬁq&«-@aﬁaﬁqmaﬁw%mgﬂmﬁﬁﬁxﬁ%?

Which among the following is not a surface hardening method for tool?

(a) 9B #31r / Case hardening (b)  Argergglson / Nitriding

(c) T Farvr / Flame hardening /(.d’)/ 3= / Pickling

11

1488



g7 A fgam mo 9@ samfs F e

ldentaify the pipe fitting shown below

(a) & / Nipple ) Plug
(©) 2dt / Cap (d) g+ / Coupling

/@ Sl FEd F1 uAed 8 um /e A R 3 ae F vees 1 T f89 Heier 81 gafere serm w5 fafre
Tecd @

Density of stainless steel is 8 gram/cubic centimeter and density ter 1s 1 gram/cubic
centimeter. Hence the specific gravity of steel is @

5)%
)8 AB) - 0.125 .

v

UV
(c) 1 (d) 4
@ 3= 9T 39T ° I=an Ty aca 9 a2
Which 1s the highest alloying element in high-speed steel?
(a) @& / Carbon (b)  HIFH / Chromium

(c) 224 / Tungsten (d) T / Nickel

49. /1 Tt x ¢ #fi iﬁqrsy,@mmamm%laawmaﬁ
Pressure of 5 MPa is applied6n'l cm x 6 ¢m area. Calculate the force.
(a) 30N

(¢) 300N

(b) 3000 N
() 3.0N

\g n

2 WH W zeqEm fafadt e 3w o Fffa va gewt 6
Hifad 379 % foo F s fuife weofier 3 i &

The most econemieal method of checking
production methods, to ensure that the si

mmﬂﬂaﬁﬁﬁ‘ﬁm?ﬁmw%,%

such components manufactured using mass
2es

are within the prescribed tolerance is?

(a) CMM =19 =1 39717 o0 / Using CMM measurement

j))/) a1 5 = I ey Using Limit gauges

(c) e W, afdar Ffead BTTf‘q I o9 are YT T 39T Feh / Using measuring instruments
like Screw Gauge, Vernier callipers etc

(d)  smaeh gfon fafy @ swim wer Using

assembly suiting method

B 12 1488



=t o= 9T & 3 \:w*d {\I "VP';T S ~ \ N
3 uTg sh shiet & o) : ‘ 3 ' » i
N/ N, ST 4 R % R e ) 10 e g ik e g afy Re fe s
I 57 fosShior 8 und) 83 B : . ’ ‘ ‘
ST 7 ! 83 {99 9t s i) @

Consider 3 metal sheets arve

Jnsder e “ heots ave joimed together by 10 numbers of vivets with rivel dinmetor of

41 O VIvetls are N o A e . | ‘

‘ < we i double shear, effective avea i square milhimetres over which failure

OCCUrs 18

QD S0+

\ (ll\ “) i’

\\‘\ 160 . (\I) d

59 T AT = g v .
52 TTW IR VT & S JyNwaw Faud fe s AMR?

The maximum clearance between a shaft and hole corresponds to?

(2) g ¥ fou =maw gmft i Rfy ok wwe & forn stfirmem wmft ) feafd / Minimum material

condition for the hole and maximum material condition for the shaft

,&b\ S & forg st gwEdt feufa st wmwe & fore =g gt &t feafa / Maximum material

condition for the hole and minimum material condition for the shaft

B¢ IR TR F fau gEaH grft & feufa / Minimum material condition for the hole and

©)
shaft

d =% ik TR ¥ fau oifywan amft H ferfy / Maximum material condition for the hole and
shaft

£ Tom ¥ ey § FretaRad § A I T FAA T @7

Which of the following statements is wrong with respect to Datum?

(@) am?f-av@ﬁmﬁaﬁwﬁaﬁﬁwﬁ%mmmﬁaﬂm%mmm/Damm
references must be used for transferring dimensions to the work-piece
T dud, dd8 < HIU WIS, ‘VWWWWW%W&W%@% / Marking
tables. surface plates angle plates, ‘V’ blocks, and parallel blocks serve as a datum

%@ﬁgﬁ@ﬁﬁu‘fﬁﬁaﬂﬁ%%ma%aqdz‘lﬁ?ﬁWm'@?ﬁﬁ/Forpositioningapoint,

two datum references are required

’(A) Wﬁgﬁﬂﬁﬁ%ﬁ%@%mﬁmmmm/Thedatummustalwaysbe
defined as centre line of the work

mmmgmﬁm%m@mww%mﬁmqﬁm

(b)

()

A frfrfaa § @ g offenfre AT
TR

Which of the follow
safety guideline?

T F foT F@l 3Tl 3qei &t / Use the correct tools for the job

a7t B2 F & / Cut the hair short
at a s = & @9 6t / Adjust the tool or the work

hen the machine is running

ing 1s not categorised as a safety practice under industrial or shop floor

(a)

(b)
© S we 9 @ 8

piece with care W

@ T H fratd ot it 38 T A/ Report and clean up spills and leaks

13 :
1488



Pl ﬁtﬁﬁ&gaﬁﬁrﬁqm@aaﬂtma:ﬁzﬁésfmzaﬁmquékwnﬁwﬁm%,ag%@%gqﬁﬁ%a:
45+0.000/+0 040 ﬁ:pﬁ \‘,ﬂ'{ TS = 45+0.045/40.065 ﬁnﬁ %?

Which of the following represents the type of fit for a hole and shaft pair, given that
1]0]():4540 000/+0.040 mm and shaft = 45+0.045/+0.065 mm?

(@) el J=SH / Clearance fit (b) @l 3= / Loose fit
) HSEEO F=TESE / Transition fit (d)  =afder s=m@EsH / Interference fit
9
6. 24}-183333%QWWW%? 'lo-s/f
S
What is the minimum limit for a 24H8 hole? >
(a) 24.330 (b)  24.033
ﬁQ/ 24.000 (d  23.967
) ﬁm%ﬁgaﬁéﬁqmaﬁqmmmgﬂ?ﬁ%?
Which among the following is not a desirable property of cutting fluid?
(a) < wfade / Corrosion resistance
/(b’)/ IR / Transparency
(c) Eﬁm 3= YAMT / Relatively high viscosity
(d) sTSasfierar / Non-flammability
58, Tehde e formd wwEfid
Term Rockwell is associated with '
(a) Y8 ¥9fd / Surface finish /CE) FIRAT / Hardness
(c) 3FAd / Volume (d)  99EH / Temperature .
W) \@9
/59/. M16 x 1.5 mm-6h TRl 9Tl 91 & fou, 1.5 s gwfar 27 | %
For an external thread of M16 x 1.5 mm-6h size, what does ‘1.5’ indicate?
(a) Y@ =@ / Major diameter Ab) = F F91 / Thread height
(c) ISt W33 / Thread runout (d) 37 / Pitch
X 7(11
/9(5oﬁq‘1anaﬁ 15.7 #iet/fide W red % fo feeer w1 smdion 3 | _,ﬂﬂ
Find out the rpm of a spindle for a 50 mm bar to cut at 15.7 m/min.? ?4/ \\,\n/
N /175 (! oy -
(a) 50 IRATTH / 50 rpm (b) 75 3w / 75 rpm \\\\\\
fer 100 e / 100 rpm (d) 150 W / 150 rpm @:(\/ :
)

"
B 14 1488




‘)] 2471 T A GHA W 200 FEurE ey P
A 20-gauge steel sheet 18 ————— compared to 24-gauge sheet.

/é w1 / Thicker
(b) wdat / Thinner
(¢) 3Iaft & WeTE / Same thickness
(d) WA A F o T8 / None of the above

69 wa e % fo Frferfan 3 @ 9 @ wd 27
Which of the following is true for wing nut?
(a) s 3R faaw=mae @& / Ease of installation and dis-assembly

(b) SR & TETIHRAT ¥ a1 e e o3 & / Loosening and tightening without the need

for tool

(c) H©Ta i il & s @A * forg 3gam feRan Smat @ / Used to fix blade in hacksaw frame
/édf 9 & Tt / All of the above

IS 2494 % ST, T Vaee F C 3048 IS: 2494 % w & sififeq firm e 31 @ W A C F F HEA

27
As per IS 2494, a V belt is designated as C 3048 IS: 2494. What is the significance of C in this

designation?

(a) T ot Jee Ao A i 2 / It represents the class of V belt

(b) I8 YR Je &HdT Hl Thd &ar &/ It gives an indication of the load carrying capacity

(c) a@?ﬁﬂaﬂm%ﬁ?ﬁmWW%W@%*WW@%/Itindicatesthatitis

not suitable for larger centre between driver and driven

\‘*\'7,’)( ‘ /e() g V acc I FIC H T¥d 2a1 & / It gives an indication of V belt Cross section

v e
@ %‘ " ‘% Vo’ D%b
B4 0.02 firfl = TR ? "
002mm=_______ microns? S0
20 b 200
() 2 (d) 2000
1> 1488



T2 T 9 ool o amg & B a1 wefles 1 qwidl & 7
/K‘“ TS T 9 ey e amt@ |, g man wdts T

= P
' epresent?’

| ] WS (hk‘ S\’l‘n)b\\] l‘h()\\ n IL‘ '

In a Qas ram Shn\\.l\\tﬂ ]‘I\l\\ln\:l(u‘ hn(‘\\ W I\:l( does .

(@) =/ Lubricator (b)y =S / Dryer
(o ==/ Filter (d)  fHEdi afe" /4Non-return valve

68 ﬁ%ﬁﬁﬁmeW%?
Which of the following is an optical measurement machine?
(a) IR Sfagry Vernier caliper
Ab) TS v&H / Profile projector
(© 9 I=ar W / Digital height gauge
(d) =9 919 / Steel rule

BT ﬁw%%a%aﬁ:ﬁé?mwm%?

What does the following warning sign indicate?

(a) Y9 " T T g9raA / Chances of Sup burn
(b) F{ﬁ Bd 1 3T/ Absence of Sup roof
‘(z)/ S fRT9T / Lager Beam

(d) T T/ X ray

8. WW*W,W@@T{W%?

For the same volume, which is lighte, Amongst 4

,Cd{ 3@:&&'&1{ / aluminium (b)

(c) &I / steel @

T tit
Hhar ! leaq

anium

1
’ ° 1488



frged # o<l fawer st Fn 3w 27
What is the use of lazy tongs in riveting?

g . : the
(a) TEe ¥ & @ & % 98 # @™ & fTu / For pressing the surface of the edge of the

plates after riveting

. . o % -3 1 3 Gt = =2 = 5 fAu / For closing
(b) g © ®Ig H S w9 fau wid ¥ B et faga & fgni w @z wE F T/ For ¢
! _ Jtal joint
down the edges of the plates and heads of the rivets to form a metal-to-metal join

e . - . . p jvet
(©) f&fen & <wm f@e 1 sifaw sm@n @9 % v / For forming the final shape of the rive
during mveting

(d) " ﬁﬁa EIESIES ﬁé{ﬂ nfyd %3 & fau / For setting standard open type blind rivets

0. T8 A TR gER ey R
Extinguishing media for a class A fire is

A §d / Water (b)

@1 9r3el / Dry powder
() @/ Sand

(d)  FeH eEATFAEE / Carbon dioxide

. mmmﬁmmaﬁaﬁﬁmmm@a%ﬁmwﬁgw%?

What is the tolerance band for holes generated by reamers commonly used in workshop?

(a) G6 Ab) _ H7

(¢) H3 (d). 37w FF F:E +ft 78 / None of the above
@ﬁmwﬁmww@ﬁm R VR W i &
A T % T sTevas B3 =

Each side of a regular hexagon is 1543 What i i i i

e e —— mm. at 1s the circum circle diameter of rod

g
() 2043 fimft / 203 mm (®) 303 firft / 3043 @
() 208 / 20 mm

@ 30/ 30 mu
A3, S8 99w St o g 27
What is included angle of a half circle?

(a) 900
@ 30 Ab) 1800

1 3T o .
, - - v ﬁaﬁé‘ﬁm/None of the
mml%mmsﬁzwﬁ' Wﬁmzﬁqﬁmlﬁaﬁwgv

What is the minimum thickness of 1]
(@ 0.0119 /0.01 mm
(¢) 0.02f / 0.02 mm

above

. 03 mm
B

1488



e iy 2) st A A S 2, st | TR Ay
A5 Fafefian 4 3 ad o v s gn adie B awAiw 2
o - hnique which 1s performed 1n two
Which among the following is a tool surface llmrdm\mg techniq
stages, viz. Carburisimg and Heat treatment?
A2 g8 F3Fm / Case hardening

() anefivams sin f3fFma / Pickling and Passivation
(©) <=1 Fafis / Flame hardening
(d)  wm Fafa / Induction hardening

6. T TR gewnrd) ) umy wenefan @ 7
What is the measurement accuracy of a manual depth micrometer?
A2 0.01 % / 0.01 mm (b)  0.1f /0.1 mm
(©)  0.001 1 7 0.001 mm @ 1fft/ 1 mm

AT gB e s % fou frefafaa § @ frg g o sy fR s g 27

Which of the following materials can be used for making a surface plate?

(a) foo= e siv mge / Wrought iron and granite
by Teral e 3R e / Cast iron and granite

(c) a1 3R 74 / Copper and bronze

(d) TEe 3R TG / Graniterand sfeel

8. e fafmtor &1 swdm fen a3
Additive manufacturing is used for
(a) T IR T / Making complex shape
(b) TR 1 H9g F=9 F / Reduce the process time
(c) <mTa H FAd / Cost reduction
A4y I F |t / All of the above

S T iy )k o o a2
Black color is used to paint the body of
(a) vfafeeti f&ei=t / Accetylene cylinder
(c) #feram fafdet / Helium cylinder

/e(gﬁmmm—“%%qﬁmma

Try square is used to;
44)  @uredl €1 A9 F/ Check flatness
(b) e il 3= F / Check perpendicularity
(c) ddR ED Q‘f{‘*}jﬁ Fl = i/ Check surface finigh
(d) Tehgal A A F / Check concentricity

Loy AHTreiom fyferet / Oxygen cylinder
) EEgem fifer Hydrogen cylinder

\
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